3G
BGS 8460

Windshield Holder, with Suction Pads

INTENDED USE

This product is used to put down car and van windows when applying window adhesive, installing the
window seal, cleaning the window before installation, etc. and is suitable for windshields, rear
windows. When putting down a window, make sure that the window rests on all four rubber plates.
The maximum load capacity is 70 kg. Any other use and change is contrary to the intended use and,
is not permitted.

Instruction Manual

SAFETY INFORMATIONS

Use the product only for its intended purpose.

Do not use the product as a ladder, climbing frame or anchor point.

Keep children and other unauthorized persons away from the work area.

Do not let children play with the product or its packaging.

Always wear appropriate protective equipment and clothing when using this product, e.g.

Safety glasses, safety shoes, protective gloves, this applies to the user and helper.

When installing and removing windows, always use rubber suction cups / window carriers.

e Always be careful when handling windows, windows made of laminated safety glass are
particularly sensitive to tension.
Always observe the vehicle manufacturer's safety and assembly instructions.

¢ Ask a second person to help you assemble the window and move it. When assembling and
transporting the window without a second person, there is a risk of injury and window
assembly is more difficult.

o Make sure the work area is clean, tidy, well-lit, dry and appropriately equipped.

o Keep this product in a dry place out of the reach of children.

BGS technic KG Tel.: 02196 720480 :
Bandwirkerstr. 3 Fax.: 02196 7204820 www.bgstechnic.com

D'42929 WermeISKirChen mail@bgs'teChnic-de © BGS technic KG, Copying and further use not allowed



3G

MOUNTING

¢ When assembling the product, do not reach through joints or moveable connections, there is a
risk of entrapment.

e Keep children and other unauthorized persons away from the assembly area.

¢ Wear non-slip safety shoes and protective gloves when assembling the product; this applies to
both the person who mounting and the helper.

PARTS
No. Description Qty. Sketch
1 | Frame top tube with chain 1 gﬁg
2 | Rubber plate 4 @
3 | Chain with eye bolt 2 OGO~
4 |Hook with Eylet 2 (C=rm
5 |Hex nut M8 8 —
o o s
6 |Leg tube 4 s — =)
c
7 |Frame top tube 1 gﬁg S
=
8 |Bolt M8 x 65 mm 2 [ — =
9 |Washer @ 8 x 30 mm 2 o g
10 | Lock M 2 =
ock nut M8 o E
11 | Washer @ 8 x 16 mm 12 O b7
=
CHAIN MOUNTING FRAME MOUNTING
5 5
3 11 11
Screw the nut (5) onto the eye bolt of the Select the hexagon screw (8) and slide the
chain (3), and push the washer (11) onto the washer (11) onto the screw.
eye bolt. Insert the screw in the middle hole of one
Now push the bolt through the frame hole, frame and place the washer (9) on the
and secure it with the washer (11) and nut (5). protruding screw part. Insert the screw into the
hole in the second frame and secure it with the
washer (11) and lock nut (10).

BGS technic KG Tel.: 02196 720480 :
Bandwirkerstr. 3 Fax.: 02196 7204820 www.bgstechnic.com

D'42929 WermeISKirChen mail@bgs'teChnic-de © BGS technic KG, Copying and further use not allowed



	8460_englisch.pdf
	Windshield Holder, with Suction Pads
	INTENDED USE
	This product is used to put down car and van windows when applying window adhesive, installing the window seal, cleaning the window before installation, etc. and is suitable for windshields, rear windows. When putting down a window, make sure that the...
	SAFETY INFORMATIONS
	MOUNTING
	PARTS


